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משוואות  טריגונומטריות
· נפתור  את  המשוואות  בעזרת  החוק:  cosx = cos(  (  x1 = ( + 3600k,  
                                                                                            x2 = - ( + 3600k 

· איך  "נהפוך"  זווית  שלילית  לחיובית?  תלוי  בגודל  המחזור.
דוגמא  א:  -200 + 3600k = 3400 + 3600k   (340 = 20 – 360).
דוגמא  ב:  -200 + 1800k = 1600 + 1800k    (160 = 20 – 180).

משוואות:

1. cosx = cos700  (  ,   x1 = ____ + 3600k
x2 =  - ___ + ______                              (     במקום  70-  נכתוב:  ______  ונקבל:
(                           x2 = ___ + _____

2. cosx = cos2000  (  ,   x1 = ____ + 3600k
x2 = - ___ + ______                                (   במקום  2000-  נכתוב:  ______  ונקבל:
x2 = ___ +   _____                               

3. cosx = cos2800  (  ,   x1 = ____ + 3600k
x2 = - ___ + ______                    (   במקום  ____-  נכתוב: _______  ונקבל:
                                 x2 = ___ + _____
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cosx = ½.                        (  ,   x1 = ____ + 3600k
x2 = - ___ + ______                                   (    x2 = ___ + _____


5. [image: image3.png]


cosx = -½.                        (  ,   x1 = ____ + 3600k
x2 =  - ___ + ______                                   ( במקום  ____-  נכתוב: _____
                                                               x2 = ___ + _____     


6. cosx = 0    (  ,   x1 = ____ + 3600k
x2 =  - ___ + ______            .  
ניתן  לאחד  את  הפתרונות  ולכתוב: x = 900 + 1800k    
· תשובות:  1.  x1 = 700 + 3600k,  x2 = 2900 + 3600k,   2.    x1 = 2000 + 3600k,
 x2 = 1600 + 3600k,   3.    x1 = 2800 + 3600k,  x2 = 800 + 3600k  
4.    x1 = 600 + 3600k,  x2 = 3000 + 3600k,   
5.    x1 = 1200 + 3600k,  x2 = 2400 + 3600k,    6.  x = 900 + 1800k 
עבודה  נעימה    
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cos_____0 = -½ 











cos600 = ½ 
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